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Revision 
Modules (4-6) 
I now know ... 

AB page 56 /exercise 1 
Complete the sentences with will or won’t and a 

suitable verb from the box. (2 marks each) 
float /fall apart/ navigate/ launch/  be able 
a. Astronauts ________ in space and enjoy zero gravity. 
b. A space catapult ________ people into space, but they 

might not survive. 
c. You have to work harder to earn more money or you 

________ to afford a $200,000-trip to space. 
d. Thanks to technology, people ________ by the stars 

anymore. 
e. When satellites stop working in space, they ________. 

The answer:a. will fl oat b. will launch c. won’t be able 
d. won’t navigate e. will fall apart 

**************************************************** 
AB page 56 /exercise 2: 

2 Circle the correct forms of can and have to to 
complete the sentences. (2 marks each) 

Nowadays, the modern Olympic Games are very 
different from the ancient ones. They (1) can’t/have 

to last about 16 days. To compete at the Olympic 
Games, athletes (2) don’t have to/have to be one of 

the best in the world at their sport. They (3) can’t/can 
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make any mistakes. Athletes (4) don’t have to/ have 
to train for years to be ready for the Games. They 

(5) can’t/don’t have to be lazy at all. They have to 
focus on their sport. 

The answer:1. have to 2. have to 3. can’t 4. have to 5. 
can’t 

**************************************************** 
AB page 56 / exercise 3: 

3 Read through the table below. Then, find mistakes in 
the Present Perfect Simple in each sentence and 

correct them. (2 marks each) 

 
The answer: 

a. I hasn’t visited haven’t visited Machu Picchu yet, 
but I would love to go there one day. 

b. Archaeologists still not have guess haven’t 
guessed why people left Angkor in 1434. 

c. People has living have lived in the ancient city of 
Jerash for over 5,000 years. 
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d. The Jerash Festival have happen has 
happened every year for the past 30 years. 

e. Archaeologists have discover have discovered that 
Gobekli Tepe is 6,000 years older than Stonehenge. 

***************************************** 
AB page 57 / exercise 4 : 

4 Complete this table by giving the base forms, the 
past forms and the past participle forms of the 

following verbs. (1 mark each) 

 
The answer: 
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******************************************************
** 

AB page 57 / exercise 5 : 
5 Read these sentences carefully. Then, complete them 

with the correct words from a, b or c. (1 mark each) 
1. Samira has courses about the historic complexes 

in Jordan. 
a) taken            b)took                   c) taking 

2. There are rules at school that you follow. 
a) can’t b)               don’t have to                c) have to 

3. are scientists who study the universe. 
a) Specialists b)             Astronomers                c) 

Astronauts 
4. The professor has us the techniques for taking 

part in a debate. 
a) teach                     b) teaches                c) taug 

5. You use physical violence! That’s considered 
cheating. 

a) can’t      b) don’t have to        c) have to 
6. archaeologists out who built this citadel? 

a) Has/found       b) Have/find       c) Have/found 
7. Orbital debris serious problems in the future. 

We have to act now! 
a) will causing          b) will cause            c) won’t cause 
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8. Can you imagine professional players playing 
football without a/ an ? Who would make sure 

they are following the rules? 
a) referee          b) pitch             c) umpire 

9. UNESCO Machu Picchu as a World Heritage Site. 
a) have listing              b) has listed              c) has lists 
10. you to find some information on the Internet 

for the school project? 
a) Will/tried           b) Won’t/trying              c) Will/try 

The answer: 
1. a 2. c 3. b 4. c 5. a 6. c 7. b 8. a 9. b 10. c 

 
 
 


